Question Answer Mark Mark scheme Additional guidance
18 5 P1 | for a correct probability for 2" or 3™ counter,
8 3 4 1 1 2 3
eg —or — or = or = or - or =
T 17 17 6 6 6
p1 for a correct product for 2 red and 1 green
D(RRG 431(120r1j
eq, =) —X—x— | =—0 —
g (( ) )8 7 6 336 28
4 1 3 12 1
or (P(RGR) =) —x—x— |=—— 0 —
8 7 6 336 28
1 4 3 12 1
or (P(GRR) =) =x—x— | =—0f —
8 7 6 336 28
p1 for a correct product for 3 red,
D(RRR 4 3 2( 240r2j
e =)—X—=X— |=— 0 —
9 (PRRRY=E 7% 536~ 28
P1 for a complete process,
(431](413)(143)(432]
BQ | TXTXT |+ | TXTX S| 4+ | TX X 4+ | XX
8 7 6 8 7 6 8 7 6 8 7 6
Al | for 80 5 Accept equivalent fractions,
o %% decimals (0.17... or 0.18) or

SCB?2 if PO scored for answer of % oe (replacement)

percentages (17% or 18%)






